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General English Language - General English Language

Question No.1

B
Fill in the blanks with suitable Article from the given alternatives.

TheHinduis __ ninth-most-circulated newspaper in India.
(A) O a(Chosen option)

(B) O an
(C) O No Article
(D) O the (Correct Answer)
I1=
Question No.2

B

Choose the word which best expresses the similar meaning of the given word "
RECEPTIVE ".

(A) O Sensitive (Correct Answer)
(B) O Unwilling

(C) O unsusceptible

(D) O Against

Question No.3

B
Fill in the blanks with suitable Preposition from the given alternatives.

A gauge of oil-market volatility ___ Thursday rose to the highest level since
March of last year.

(A) O on (Correct Answer) (Chosen option)

(B) O at

(©) O in

(D) O through
L=
Question No.4

B
Fill in the blanks with suitable Article from the given alternatives.

essay is generally a short piece of writing outlining the writer's perspective
or story.

(A) O The (Chosen option)
B) O A

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

(C) O An(Correct Answer)
(D) O No Article

Question No.5 Marks
Bookmar
Fill in the blanks with suitable Preposition from the given alternatives.

The chief guest asked the teachers to tie a ribbon the gift box.
(A) O beyond (Chosen option)

(B) O between

(C) O around (Correct Answer)

(D) O since

Question No.6 Marks
Bookmar
Find the word which is correctly spelt from the given options.
(A) O Preciptate
(B) O Pesimist
(C) © Symetry
(D) O Tributary (Correct Answer) (Chosen option)

Case Study - 7 to 11
Directions: Read the passage carefully and answer the questions that follow.
China evolved a national working strategy to fight pollution. Under this, they placed a number of
restrictions on the use of coal. Thermal power stations were shut down and people were not
allowed to burn coal even for household consumption. Also, apart from creating norms for
vehicular emissions, a number of precautionary measures that could keep air pollution in check
were put in place. For the record, 1,37,000 people in China lost their lives because of PM 2.5
vehicular emissions just this year.

While it is true that Beijing’s air quality has improved, the government is far from achieving its
targets. The Chinese government has acknowledged that pollution has not reduced to the extent
that it was targeting in as many as 231 out of 338 Chinese cities. To overcome this, another three-
year working strategy has been prepared.

Question No.7 Marks
Bookmar
Statement 1: The pollution has reduced considerably to an extent targeted by the
Chinese government.

Statement 2: Thermal Power stations were shut down in China to fight pollution.
(A) O Statement 1 is true and statement 2 is false

(B) O Statement 1 is false and statement 2 is true (Correct Answer)
(C) © Both the statements are true
(D) O Both the statements are false

Question No.8 Marks
Bookmar
Why did 1,37,000 people in China lost their lives?
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(A) O Burning Coal

(B) O Vehicular emission (Correct Answer)
(C) © Thermal power stations

(D) O Both 1 and 2 (Chosen option)

Question No.9

According to the passage, what does the word ‘check’ mean?
(A) O Ignore

(B) O Neglect
(C) O Disregard
(D) O CcControl (Correct Answer) (Chosen option)

Question No.10

How many cities did Chinese government target to reduce pollution?
(A) O 338

(B) O 231 (Correct Answer)
(C) © More than 231 (Chosen option)
(D) O More than 338

Question No.11

What are the strategies devised by China to fight Pollution?
(A) O Shutting down thermal stations

(B) O Restrictions in burning coals
(C) O Controlling vehicular transmissions
(D) O All of these (Correct Answer) (Chosen option)

Question No.12

Fill in the blanks with suitable Preposition from the given alternatives.

The squad foundabomb___ the truck.

(A) O to

(B) O underneath (Correct Answer) (Chosen option)
(C) O for

(D) O against

Question No.13

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

House or shelter of a gipsy
(A) O Sanatorium

(B) © Octagon
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(C) O Escort
(D) O Ccaravan (Correct Answer)

Question No.14

B
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct’.

Our team will played final match by tomorrow.
(A) O The given sentence is correct

(B) O have played
(C) O will have being played
(D) O will have played (Correct Answer) (Chosen option)

Question No.15

B
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option The given sentence is
correct'.

and not because they want to lose weight and get in shape.

(A) O believes people must do yoga to find a (Correct Answer) (Chosen option)
(B) O believes people must does yoga to find a

(C) O The given sentence is correct

(D) O believes people must do yoga to find an

Question No.16

Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

Loss of memory
(A} O Amnesia (Correct Answer)

(B) O Creche
(C) O Asylum
(D) O Reflex

Question No.17

Find the word which is correctly spelt from the given options.
(A) O Qualifiad

(B) O Transgresion

(C) O Robust (Correct Answer) (Chosen option)

(D) O Personaige

Question No.18
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B
Replace the underlined phrase grammatically and conceptually with the help of the given
options. If the given sentence is correct then select the option 'The given sentence is
correct'.
It is Melania Trump's interesting choice of colours_for her looks that caught people's
attention.
(A) O for her looks that caughts
(B) O The given sentence is correct (Correct Answer) (Chosen option)
(C) O for her look that caughts
(D) O for her look that caught
Question No.19
B
Choose the word which expresses nearly the opposite meaning of the given word "
POISED ".
(A) O Float
(B) O Refuse (Correct Answer)
(C) O Balance
(D) O Stand
Question No.20
E
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.
One who does not express himself freely
(A) O Jury
(B) O Pacifist
(C) ©O Numismatist (Chosen option)
(D) O Introvert (Correct Answer)
Question No.21
B
Choose the word which expresses nearly the opposite meaning of the given word "
BREVITY "
(A) O Crispness
(B) O Transience
(C) O Lengthiness (Correct Answer)
(D) O Shortness
Question No.22
B
Find the word which is correctly spelt from the given options.
(A) O Benevolant
(B) O Volataile
(C) O Biodegradeble (Chosen option)
(D) O Celestial (Correct Answer)
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Question No.23

B
Choose the word which best expresses the similar meaning of the given word " INTERIM

(A) O Acting (Correct Answer)
(B) O Advantage

(C) O Continual

(D) © Permanent

Question No.24

B
Replace the underlined phrase grammatically and conceptually with the help of the given

options. If the given sentence is correct then select the option 'The given sentence is
correct’.

Hiromu Inada win the Ironman world championship at age of 85.

(A) O wons the Ironman world championship at the

(B) O won the Ironman world championship at the (Correct Answer) (Chosen option)
(C) © wins the Ironman world championship at a

(D) O The given sentence is correct

Question No.25

Fill in the blanks with suitable Article from the given alternatives.

In April last year,
System Data.

(A) O an
(B) O the (Correct Answer)

€ O

(D) O No Article (Chosen option)

Reserve Bank of India issued a directive on Storage of Payment

Odia Language - Odia Language

Question No.1

'6AIQI- 61RQ AFIZTEIRIA SR '8l ?
(A) O Geaig

(B) O @& (Correct Answer)
(C) O aigue

(D) O §& (Chosen option)

Question No.2

O 60 0gia G2l |
(A) O 2reaies
O
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(B)  2RIQENRIAGI
(C) O zrRIese
(D) O aRIeeaE! (Correct Answer) (Chosen option)

Question No.3

Q8 FIORER 606 Qg 29?2

(A) O Go1al

(B) O agm

(C) O agm

(D) O @e14al (Correct Answer) (Chosen option)

Question No.4

'O & ARIQ §IR ?

(A) O ©g¢l (Correct Answer) (Chosen option)
(B) O 9608w

(€) O 2agrel

D) O 6068

Question No.5

Q0161 626 AAIE ?

®) O 98

8 O 39

(€) O @g1@ (Correct Answer)
(D) O ©Q g« (Chosen option)

Question No.6

2RE] - 6Q6 A ?

(A) O ayaQue (Correct Answer)
B) O @¢g

(C) O @¢Iaw (Chosen option)
() O gq

Question No.7

QEITFIER 661N R I- QIR QI 'QECFIER 606 ARG ?
(A) O agm
B) O «g]

O
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(C)  asen
(D) O @14 (Correct Answer) (Chosen option)

Case Study - 8 to 12
QALY ORERQ A2 6RAR FRIYENT, GP2 68 QIN6R AFAY PUE, FLWIRTR BGFSIA ARRTER 686R Il
@661 @& JISIARe JORI Q6d JEIFN | Gl 6REIRT B89 2Rg QAQIeT 4 U6 ‘Resla 09108 o Q6gy
| QIR QRIPARIA! IRISIQ AIRIY | 92J6Q FITR 1Y, FITSI 1Al G IRFIQ CPedIee 0RQ 62R8
ARl | 6P Q16 QIPeY6R RIS 606 AIFER ATROI ARE OI'A (REAE 208 ARG R0 54 |

Question No.8 Mark:

Bookmai
QIRIQ 8 Q1946 3Pl APATEYER TR 621QQ7

(B O gy
(8) O g
(C) O @I (Correct Answer) (Chosen option)
(D) O arIgye

Question No.9 Mark:

) Bookmai
FEEINLLINER SFIFR 64 AA QEE?

(A) O Qs 6cllemia il

(B) O amola ARIRIR!

(C) O Q= AgImIm!

(D) O a1qy=x QRIeeMIFI (Correct Answer) (Chosen option)

Question No.10 Mark:

Bookmai
A9 JOal 94910 PIFA AR 606 o6 amI?

(A) O ¢iae goal

(B) O qisna@a géau (Correct Answer) (Chosen option)
(C) O <g day Rl goal

(D) O RIea1L 9o

Question No.11 Mark:

R . Bookmai
QRgJY ORERQ Q2 696! J6IA 89 g6m?

(A) O aeyelIer gel

(B) O ¢1ugyel (Correct Answer) (Chosen option)
(C) O Qe1R gel

(D) O 69gegsl

Question No.12 Mark:
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\EI6R QRIRYR FI6R YOI 6AIRRI 9 6EE?

(A) O @agd

(B) O &I (Correct Answer) (Chosen option)
(C) O g

(D) O a19g

Question No.13
0@ et 09I G2l |
(A) O 78gQ 696l
(B) O Fgedq
(C) O @q &g (Chosen option)
(D) O @QQ 696l (Correct Answer)

Question No.14

qe'a giRier @'6 ?

(A) O @11 (Correct Answer) (Chosen option)
(B) O

(€) O qgé

(D) O qgen

Question No.15

R - d0q AfIdearie deT '8 ?
(A) O Qe

(B) O Qe
(C) O @mQé](Correct Answer) (Chosen option)
(D) O Q@R

Question No.16

6019 - 60Q HARG 6@ @'6 ?

(A) O equd (Correct Answer) (Chosen option)
(B) O «qua

(C) O eqRl

(D) O 2erd

Question No.17

QIFR0IQ E116 ZIQK 94 I- QIRYER QI 'PFROIQ 604 F0G ?
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(A) O agm

(B) O @o1l

(C) O «q1(Chosen option)
(D) O Qg (Correct Answer)

Question No.18

‘2009 - 606 aFIa ?
(A O gq

(B) O 24e
(C) O &y

(D) O

2 (Correct Answer) (Chosen option)

o

Question No.19

'FIMER 210 6091 - QRER 606 218 O ?

(A) O difg 2GRl

(B) O ciRg &10gq @89l

(C) O gy 6ANIR QG

(D) O ©@e @@l (Correct Answer) (Chosen option)

Question No.20

‘A - RQ ARG 61R @6 ?

(A) O 63871 (Chosen option)
(B) O @ag

(C) O edaf14 (Correct Answer)
(D) O aaiey

Question No.21

'66lIQ 66@ QUQI- QPFR 6mal 212 O ?

(A) O g4 6rIn @Ta@q!

B) O gage eaia Q&@Ql (Correct Answer) (Chosen option)
(C) O 66l19g QIHI6a @ AGIRS

(D) O 66l196Q ¥ @ MEIRQ!

Question No.22

P671Q FUQ 6REIE 26AIGIRIR Q2
(A) O 4
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(B) O :8(@ael) (Correct Answer) (Chosen option)
©) O «a
D) O 4

Question No.23

'QIFE & dRIQ 6 ?

(A) O 6@6& (Correct Answer) (Chosen option)
(B) O 4o

(C) O o@@

(D) O am

Question No.24

'SIREA QRIS - R 606 28 O ?

(A) O sdisiag 6R<l

(B) O daeea agimQl (Correct Answer) (Chosen option)
(C) O dimeiclea 2mel dRlaQl

(D) O QQ R cIPdel

Question No.25

'PREAY' - E0Q BAAS 6@ §'61 ?

(A) O @aa

(B) O <i6Qd (Correct Answer) (Chosen option)
(C) O gas

(D) O qum

General Knowledge - General Knowledge

Question No.1

is the unusually rapid increase in Earth's average surface temperature over
the past century primarily due to the greenhouse gases released as people burn fossil
fuels.

(A) O Ozone Hole

(B) O Oceanic Depletion

(C) O Polar Caps

(D) O Global Warming (Correct Answer) (Chosen option)

Question No.2

The famous Konark Sun Temple was built during the reign of:
(A) O King Anangabhima lll
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(B) O King Narasimhadeva I (Correct Answer) (Chosen option)
(C) O King Bhanudeva IV
(D) O King Bhanu Deva |

Question No.3

Which among the following were the devotees of Vishnu?
(A) O Digambara

(B) O Alvars (Correct Answer)
(C) O Shwethambara (Chosen option)
(D) O Nayannars

Question No.4

In which year did Krishnadeva Raya die ?
(A) O 1829 AD

(B) O 1259 AD (Chosen option)
(C) O 1529 AD (Correct Answer)
(D) O 2159 AD

Question No.5

Where is Nathu La pass located , which connects India with China?
(A) O Meghalaya

(B) O Tripura

(C) O Manipur

(D) O Sikkim (Correct Answer) (Chosen option)

Question No.6

Which of the following is the ancient name for Odisha?
(A) O Anga

(B) O Gauda

(C) O Kamarupa

(D) O Kalinga (Correct Answer) (Chosen option)

Question No.7

Which of the following countries hosted the 26" UN Climate Change Conference of the
Parties(COP 26) in partnership with Italy?

(A) O Portugal

(B) O Spain

(C) O Germany

(D) O United Kingdom (Correct Answer)

Question No.8

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App

Which of the following biosphere reserves is located in Andhra Pradesh?
(A) O Simlipal

(B) O Nilgiris (Chosen option)
(C) O Agasthyamala
(D) O Seshachalam (Correct Answer)

WtsApp/Call- 8596976190

Question No.9

Brahmo Samaj was established by in Calcutta.
(A) O Dayananda Saraswathi

B) O Mahatma Gandhi

(B)
(C) O Raja Ram Mohan Roy (Correct Answer) (Chosen option)
(D) O Rabindranath Tagore

Question No.10

The caves at Udayagiri and Khandagiri were excavated by:
(A) O King Pushya Mitra

(B) O King Kharavela (Correct Answer) (Chosen option)
(C) O King Bruhaspati Mitra

(D) O King Bahasati Mita

Question No.11

In which of the following Zoological Parks, the Asiatic Lions died due to Covid-19 in June

20217

(A) O Indira Gandhi Zoological Park (Chosen option)
(B) O Srivenkateswara zoological Park

(C) O Sri Chamarajendra Zoological Gardens

(D) O Arignar Anna Zoological Park (Correct Answer)

Question No.12

Which is a major railway zonal network provide services to Odisha state?
(A) O Southern Railway

(B) O North Eastern Railway
(C) O East Coast Railway (Chosen option)
(D) O South Eastern Railway (Correct Answer)

Question No.13

Articles 51-A in Part IV-A of the Indian Constitution deals with
(A) O The Scheduled and Tribal Areas

(B) O Amendment of the Constitution

(C) O Fundamental Duties (Correct Answer) (Chosen option)

JoinUs-‘ > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World App WitsApp/Call- 8596976190

(D) O Emergency Provisions

Question No.14

Which is a value advocated in Article 43A of the Indian Constitution under Directive
Principles of State Policy?

(A) O Protect monuments of national importance

(B) O Uniform Civil Code

(C) O Protect and improve the environment

(D) O Participation of workers in the management of industry (Correct Answer)

Question No.15

Which of the following is a leguminous crop?
(A) O Jawar

(B) O Rice
(C) O Millets
(D) O Pulses (Correct Answer)

Question No.16

In which Indian State World's First Genetically Modified(GM) rubber sapling was planted?
(A) O Kerala

(B) O Assam (Correct Answer)
C) O Meghalaya
)

(
(D) O Karnataka (Chosen option)

Question No.17

In which district Nirmalajhar waterfall is located?
(A) O Cuttack

(B) O Ganjam (Correct Answer)
(C) O Phulbani (Chosen option)
(D) O Khurda

Question No.18

Who introduced novel writing, short story in Odia literature?
(A) O Gopabandhu Das

(B) O Fakir Mohan Senapati (Correct Answer) (Chosen option)
(C) O Kabibara Radhanath Ray
(D) O Gangadhar Meher

Question No.19

What is the theme for Earth Day 2021?
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(A) O End Plastic Pollution

(B) O Restore Our Earth (Correct Answer)
(C) O Protect Our Species (Chosen option)
(D) O Climate Action

Question No.20

Who was the founder of ‘Utkal Dipika', the first newspaper of Odisha?
(A) O Fakir Mohan Senapati

(B) O Bhagavati Charan Das
(C) O Bichitrananda Das
(D) O Gourishankar Ray (Correct Answer) (Chosen option)

Question No.21

Which of the following is the starting line of Preamble of the Constitution?
(A) O We, the people of India (Correct Answer)

(B) O For the citizens of India
(C) O This twenty-sixth day of November 1949
(D) O We, the citizens of India (Chosen option)

Question No.22

Which of the following International Organisations adopted the Indigenous and Tribal
Peoples Convention?

(A) O International Labour Organization (Correct Answer)
(B) O International Criminal Court of Justice (Chosen option)
(C) O World Bank

(D) O World Health Organization

Question No.23

In which century, the Hiuen Tsang visited Odisha?
(A) O 6! century AD (Chosen option)

(8) O 4th century AD
(C) O 7t century AD (Correct Answer)
(D) O st century AD

Question No.24

Which year has been declared as the 'International Year of Millets' by United Nations ?
(A) O 2023 (Correct Answer)

(8) O 2025
(©) O 2020
(D) O 2021
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Question No.25

Which country hosted World Environment Day 20217
(A) O Singapore (Chosen option)

(B) O Malaysia

() O Maldives

(D) O Pakistan (Correct Answer)

Question No.26

As of 2020, which Indian state has the lowest number of seats in Legislative Assembly?
(A) O Uttarakhand

(B) O Sikkim (Correct Answer) (Chosen option)
(C) O Mizoram
(D) O Kerala

Quantitative Aptitude - Quantitative Aptitude

Question No.1

If a bus travels from city A to city B with a speed of 4471 kmph and another bus travels

from city B to city A with a speed of 351 kmph, find the relative speed when both the
buses cross each other.(In m/s)

(A) O 210
(B) O 220 (Correct Answer) (Chosen option)
{€) O 215
D) O 205

Question No.2

Find the value of X:

vx x 180 = (23591-23411)x21

(A) O 400

(B) O 324

(C) O 441 (Correct Answer) (Chosen option)
(D) O 381

Question No.3

What value should come in the place of question mark (?) in the following question?
8.5%(32x1.5%2.5x56)+16 = ?

(A) O 3370
(B) O 3570 (Correct Answer) (Chosen option)
(C) O 3470
(D) O 3670

Question No.4
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Pipe A can fill a tank in 360 minutes and Pipe B can fill the same tank in 720 minutes. If
both pipes are opened together, how many minutes will it take to fill the empty tank?
(A) O 240 (Correct Answer) (Chosen option)

(B) O 280
(©) O 260
(D) O 220

Question No.5

If Ramesh distributed 1911 chocolates from a box of 4550 chocolates, what percentage
of the chocolates will be left in the box?

(A) O 62
(B) O 60
(€) O 64
(D) O 58 (Correct Answer) (Chosen option)

Question No.6

Average of 11 consecutive numbers is 530. If the average of 15! 5 numbers is 527 and
the average of last 5 numbers is 533, find the middle number.

(A) O 510
(B) O 540
(C) O 520
(D) O 530 (Correct Answer) (Chosen option)

Question No.7

Find the average of arithmetic progression whose first term is 2363 and the last termis
4585.

(A) O 3774
B) O 3574
(C) O 3474 (Correct Answer)
(D) O 3674

Question No.8

A can finish a work in 252 days and B can do the same work in 504 days. Working
together, they will complete the same work in how many days?
(A) O 170

(B) O 166
(€) O 164
(D) O 168 (Correct Answer) (Chosen option)

Question No.9

After 4444 liters of petrol were poured into the tank, it was still 12% empty. What is the
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total capacity of the tank?(In liters)
(A) O 5050 (Correct Answer)

(8) O 5150
(€) O 5350
(D) O 5250

Question No.10 Marks

Bookmat
The average of 165 lab readings was 61 units. Later on it was found that a reading 226
was wrongly typed as 61. Find the correct average.

(A) O 64
B) O 63
(C) O 61
(D) O 62 (Correct Answer)

Question No.11 Marks

Bookmat
What value should come in the place of question mark (?) in the following question?
(1/39)x16848+1/46(5060) = ? x 271

(A) O 4
(B) O 2 (Correct Answer) (Chosen option)
(G 1
(D) O 3

Question No.12 Marks

Bookmai
The average of 37 numbers is 183. After excluding one of the numbers, the average
remains the same. Find the number which is excluded.

(A) O 177
B8) O 181
(C) O 183 (Correct Answer) (Chosen option)
(D) O 179

Reasoning Ability - Reasoning Ability

Case Study -1to 3

Read the given information carefully and answer the questions that follow.

Seven friends M, N, O, P Q, R and S sit in a straight row. Out of seven, some face north and some
face south, not necessarily in the same order.

a) Neither Q nor P is the neighbor of M.

b) S sits to the immediate right of O.

c) R and M faces the direction opposite to that of S and P.

d) M sits at the one end of the row.

e) R sits fourth to the left of P.

f) O sits third to the right of Q, who sits fourth to the left of N. N doesn't face South direction.

Question No.1 Marks

Bookmai
Who sits at the fifth position from the left end of the row?
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(A) O N (Correct Answer)
B) O S
©cor
D®) O Q

Question No.2

Who sits third to the left of S?
A) O Q

(B) O R (Correct Answer)
(C)O N

(D)O ™M

Question No.3

Who sits exactly between O and R?
(A) O Q

B) O s

C©OP

(D) O N (Correct Answer)

Question No.4

A girl is facing North-East direction. If she turns 72 degrees in clockwise direction and
63 degrees in the same direction, which direction will she face now?

(A) O South (Correct Answer) (Chosen option)
(B) O East
(C) O West
(D) O North

Question No.5

Find the next number in the series.
25,62,140, 300, 624, ?

A) O 1277

(B) O 1275

() O 1288

(D) O 1276 (Correct Answer)

Question No.6

Replace the question mark with an option that follows the same logic applied in the
first pair
Electrician : Plier :: Mechanic : ??

(A) O Pan
(B) O Handcuffs
(©) O Bullet
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